QID : 201 - In the following question, select the related word from the given alternatives.
Book : Pages : : Ladder : ?
Frfafea uer 7 Ry 7Q fenedt # @ wefda ez @l gl

U gs :: Hidt: ?
Options:

1) Steps

haH

2) Walking

I T

3) Parts
AT

4) Levels
TR

Correct Answer: Steps
heH

Candidate Answer: Parts
AT
QID : 202 - In the following question, select the related word from the given alternatives.
Binocular : View:: ?:?
et v & Ry g Reved! 8 @ Geife 2ee @l g
AT 227
Options:
1) Shovel : Scoop
- Frerer

BT
2) Spanner : Guard

. X&h
3) Tongs : Bore
e : o
4) Chisel : Grind
&t ; o

Correct Answer: Shovel : Scoop
hBT :

Candidate Answer: Shovel : Scoop
IO

QID : 203 - In the following question, select the related letters from the given alternatives.
ABC : FFF::MDP : ?

frfarfea wer 7 Ry 7q feneat & @ Tefda s1ert & gl

ABC : FFF:: MDP:?

Options:

1) RRR

2) HHH

3) RHS

4) RSH
Correct Answer: RHS
Candidate Answer: RHS

QID : 204 - In the following question, select the related letters from the given alternatives.
JMPQ : HKNO : : LCOP : ?
ffafEa usr & Ry o Rreredt & @ Tefda sreri &t gfg)

JMPQ : HKNO : : LCOP : ?



Options:
1) JANM

2) JAMN
3) MAJP

4) JANN
Correct Answer: JAMN
Candidate Answer: JAMN

QID : 205 - In the following question, select the related number from the given alternatives.
11:1331::12:?

ffafEa us & R Mg et & @ Tefda g ot ggl

11:1331::12:?

Options:

1) 1728

2) 728

3) 1528

4) 1628
Correct Answer: 1728
Candidate Answer: 1728

QID : 206 - In the following question, select the related number from the given alternatives.
6:215::8:?

At wer 7 Ry Qg foeredt # & Hefda Jw@n &t gihgl

6:215::8:?

Options:

1) 510

2) 511

3) 512

4) 520
Correct Answer: 511
Candidate Answer: 511

QID : 207 - In the following question, select the odd word pair from the given alternatives.

frafafaa ner & g g et § & fawm e g a6t gfg)
Options:

1) Dog : Puppy

g : foer

2) Horse : Mare

HieT : TSt

3) Sheep : Lamb

IS 7FT

4)'Cow : Calf
T : gSel
Correct Answer: Horse : Mare

oYer : get

Candidate Answer: Sheep : Lamb
dq : gEAT

QID : 208 - In the following question, select the odd word pair from the given alternatives.

frforfea uer 7 Ry 7Q fenedt # @ fowm <1z g &t gigl
Options:

1) Quadrilateral : Four

TGS - IR

2) Octagon : Eight

STEY : 316

3) Decagon : Ten

QRS 8§

4) Heptagon : Six

TG : B

Correct Answer: Heptagon : Six
Yl : ©:

Candidate Answer: Heptagon : Six
Y : B:

QID : 209 - In the following question, select the odd letters from the given alternatives.

frafafea v & Ry e Revedt & @ fom s1eri a0t gfmwl



Options:
1) Sz

2)BJ
3) PW
a4 MT

Correct Answer: BJ
Candidate Answer: BJ

QID : 210 - In the following question, select the odd letters from the given alternatives.

frfafea w7 g 7Q faenedt & @ v s1eri &t gfAml
Options:

1) BY

2) DW

3)FT

4) KP
Correct Answer: FT
Candidate Answer: FT

QID : 211 - In the following question, select the odd number pair from the given alternatives.
frfafeEa us & Ry e Rrereat & @ fowm g gm @t gl

Options:

1)11-44

2)8-34

3)6-18

4)12-72
Correct Answer: 8 — 34
Candidate Answer: 11 - 44

QID : 212 - In the following question, select the odd number pair from the given alternatives.

frafafea nsr & g g et & & v g gm & gfgl
Options:
1)72-92

2)33-53
3)89 - 129

4) 60 - 80
Correct Answer: 89 — 129
Candidate Answer: 89 — 129

QID : 213 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Pinned
2. Provoke
3. Pasture
4. Pale

5. Pond

fafafEa el @t reaaier § S aret s & oraR ford |

1. Pinned
2. Provoke
3. Pasture
4. Pale

5. Pond

Options:
1) 41352
2) 43152
3) 43512

4) 43215
Correct Answer: 43152
Candidate Answer: 43152



QID : 214 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Pebble

2. Pager

3. Protect

4. Pest

5. Pray

T 2real ot AregahisT A 11 aTet 37 & STgER |

1. Pebble
2. Pager
3. Protect
4. Pest

5. Pray

Options:
1) 21453
2) 24153
3) 25143

4) 25413
Correct Answer: 21453
Candidate Answer: 21453

QID : 215 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
MP, OR, QT, SV, ?

e 31ehH foam ma B, fored @ Uk ug i &1 Ry 1 faehedt A @ g 9t fenew gAY, St srgehd il gy k|

MP, OR, QT, SV, ?

Options:

1) UX

2) TW

3)TU

4) XU

Correct Answer: UX

Candidate Answer: UX

QID : 216 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AAZ, CDX, EGV, ?

Teh 1A fear T g, e € Uk ue g &1 iy 1Y fohedt A © a8 wel fdeed g, St SigehA @l g e

AAZ, CDX, EGV, ?

Options:
1) FGT

2) GIT

3) GHT

4) GJT

Correct Answer: GJT

Candidate Answer: GJT

QID : 217 - In the following question, select the missing number from the given series.
2,3,8,27,?

Frfafea us 7 Ry e fenedt & @ g ofcs 3 AIfSQ)

2,3,8,27,?
Options:

1) 76

2) 84
3)112

4124
Correct Answer: 112
Candidate Answer: [ NOT ANSWERED |

QID : 218 - In the following question, select the missing number from the given series.
3,17,73,297,?
frfafEa ner § g 1q freredt § @ g sies ra A

3,17,73,297,?



Options:
1) 1087

2) 1193
3)2117

4) 2197
Correct Answer: 1193
Candidate Answer: 1193

QID : 219 - In a class of 52 children, Bilal's rank is 11t from the bottom. Salman is 9 ranks above Bilal. What is Salman's rank from the top?

52 s} Y Yeh et H, farettel o1 W 2 S 11 af §1 o, S § 9 WH IWR g1 SR T T ol 9T W §7?
Options:

1)37Ih

374f

2) 33I’d
33af

3) 381h
38af

4) 35“1
35af

Correct Answer: 33"
33ar

Candidate Answer: 331
334t

QID : 220 - The ratio of present ages of Kamal and Vikram is 9 : 4. If the age of Kamal ten years ago was 44 years, then what is the present age (in years) of Vikram?

A TAT fIehH & IIHT 31T T ST 9 : 4 B1 I TH aN gd e i 31g 44 a9 gifl, dt fasha &Y o g (awt #) srm 82
Options:

Correct Answer: 24
Candidate Answer: 24

QID : 221 - Vikram remembers that his son Vihan's birthday is after 25t December. Vikram's wife remember that Vihan's birthday is after 23" December but before
27t December. On which date of December is Vihan's birthday?

et ag € Y 3Tk 7 fagm o Al 25 Rigwer & a1e &1 faehm Y ueht ot arg @ it fagm o Safea 23 Rigwer & a1e dfth 27 vk @ ugat 81 fagm o Safes feawmer Y
HH-T aRRE A &7

Options:
1) 23

2) 24

3) 25

4) 26

Correct Answer: 26

Candidate Answer: 26

QID : 222 - In the following question, select the word which cannot be formed using the letters of the given word.
CORPORATION

FrfafeEa faeedt & & 98 g gAY St faQ 7 2168 & S78RT o1 TR Shech Tol ST ST HehdT |
CORPORATION

Options:

1) RATIO

2) REPORT

3) PORT

4) TORN
Correct Answer: REPORT
Candidate Answer: REPORT

QID : 223 - In the following question, select the word which cannot be formed using the letters of the given word.
PARTICULARLY
frfafea faeedt & & a8 g gAY St XY 71 2168 & S18RT a1 TR Shech Tg] ST ST HehdT |

PARTICULARLY



Options:
1) RALLY

2) TALCUM
3) cuLT

4) PART
Correct Answer: TALCUM
Candidate Answer: TALCUM

QID : 224 - In a certain code language, "TAIL" is written as "42" and "BANT" is written as "37". How is "GODY" written in that code language?

U fafre i arom 3, "TAIL" it "42" forar ST & aur "BANT" ol 37" forar SIdT &1 59 his 9ToT & "GODY" o foh wepR forar straem?
Options:

1) 79

2) 51

3)68

4)73
Correct Answer: 51
Candidate Answer: 51

QID : 225 - In a certain code language, "CURING" is written as "XFIRMT" and "TRACED" is written as "GIZXVW". How is "LATELY" written in that code language?

U fAfAre i 9o &, "CURING" &Y "XFIRMT" forar STrar € 9 "TRACED" &l "GIZXVW" foaT STTaT &1 39 ahie AmaT & "LATELY" oh! fohg U formar strgam?

Options:
1) QZXHQD

2) RXGVRC
3) 0ZGVOB

4) NXHVNB
Correct Answer: 0ZGVOB
Candidate Answer: 0ZGVOB

QID : 226 - If "@" denotes "multiplied by", "$" denotes "subtracted from", "%" denotes "added to" and "&" denotes "divided by", then which of the following equation must
be true?

i "@" 1 oref "Tpom” §, " $" o o1ef "wera” §, %" T oref "SiiS” § T "&" @t oref "umT' B, at Ffaifa A & e @ aeteor el 82

Options:
1)7%9&385=4

2)4%3@689=12
3)3@9%6&2=30

4)6%9@2$7=16
Correct Answer: 3@ 9% 6 &2 =30
Candidate Answer: 3@ 9 % 6 &2 =30

QID : 227 - In the following question, correct the equation by interchanging two numbers.
3-4+12x6+8=28
frafafEa asr &, ) <t Temai & e f ReR Teda 2y 1y Trfteor ) @@ RSl

3-4+12x6+8=28
Options:

1)3and 4

3qur4

2)4and 8

47918

3)3and8

3dur8

4)4and 6

43916

Correct Answer: 3 and 8
3dur8

Candidate Answer: 3 and 8
3418

QID:228-1f4202a16=146and3205a18 =77,then 4204 a39="?

afe4202a16=146au13205a18=778, @ 4204a39=2?

Options:
1) 108
2) 125
3) 203
4)184

Correct Answer: 125



Candidate Answer: [ NOT ANSWERED |

QID:229-1f6 A7B3=60and11A9B6=165then10A11B5="?

a6 A7B3=60TaT11A9B6=1658, TT10A11B5=2

Options:
1) 105
2) 160
3) 165
4) 180

Correct Answer: 160
Candidate Answer: 160

QID : 230 -

In the following guestion, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Tafafta vy & By or et & @ uy B

(?) & TUH W FA arel TEAT H gD

8 24 12 36 14 | 42
216 | 72 324 | 108 ? 126
Options:
1)178
2) 252
3) 378
4) 630

Correct Answer: 378
Candidate Answer: 378

QID : 231 -

In the following guestion, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

TFaffag vy # G o et & @ uy g

(?) & TUE W HF TN TSI H JEAT

3 4 2
[6]75[1] [7[19]5] [3[7[1]
4 2 9

Options:
1) 16

2)17
3)18

419

Correct Answer: 16

Candidate Answer: [ NOT ANSWERED ]




QID : 232 -

How many triangles are there in the given figure?

& 1% sl # fnae fegs €

N

Options:
1)16

2)18
3)20

4)24
Correct Answer: 20
Candidate Answer: 18

QID:233-
How many triangles are there in the given figure?

& 7% gl # e P ¥

Options:
1) 16

2)18
3)19

4) 20
Correct Answer: 20
Candidate Answer: 16

QID : 234 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All cups are plates.

Il. No plate is spoon.

Ill. Some spoons are pens.

Conclusions:

|. Some pens are cups.

Il. Some cups are spoons.
Ill. No cup is spoon.

IV. Some pens are not cups.

12 g T udes Ut # 5 U SR I 916 39 HYHl R SR $© et &g 11g §, gTeriics 399 A=y F1d a2t O fraar gt aehdt g1 9t freend ug ofk fiRr faiRa o s feg
MY i @ sy, g T et & SR W gRedTd €1

<hy-:

| gft po =X &)

1. S @i I7T= T8 &1
. T Twg o 7el 81

fArsep:

|. B HTEI

Il. T HY T &

I1l. SIS Ty T77 51 81
IV. $®& o9 &Y T8l |



Options:

1) Only conclusion (I1) and (Il) follow
et et (1) qar e (1) It &

2) Only conclusion (ll1) and (1V) follow
hadt fAsawy (111) gur sy (IV) 98t §

3) Only conclusion (1) and (IV) follow
hadt fAswy (1) Ferr fAswy (IV) T8t &

4) Only conclusion (1), (I1) and (111) follow
hae fsa (1), (I1) qe fsend (111) et &

Correct Answer: Only conclusion (lll) and (IV) follow

et e (111) o s (1V) Tt &

Candidate Answer: Only conclusion (Ill) and (IV) follow

et Frem (111) qar Rt (1V) @8 &

QID : 235 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All pens are pencils.

Il. No pencil is eraser.

Ill. Some cups are erasers.

Conclusions:

I. Some cups are not pencils.
Il. Some cups are not pens.
Ill. Some pencils are not cups.
IV. No pen is eraser.

12 g T udes U H 5 due SR S 916 39 hYHl IR SR $© st &g 71g &, gTerifcs 399 ami= F1d a2l 9 forar gt aehdt ¢ 9t feend 0 ofk iR fRaiRa o= s feg
TQ & @ fsey, g T et & SR W gRedTd &1

<hYH:

1. g+t O O &1

1. Y IR TR ST &1
Il. 8 &Y TR &l

freen:

|. $© %u o T8 81

Il. & U o T8 &1

I11. e Uf¥ie g 781 &1

V. &S O TR T 81

Options:

1) Only conclusion (1), (1) and (111) follow
haer fsa (1), (1) qe fseed (111) et &

2) Only conclusion (I1) and (V) follow
haet fsay (11) o fsey (IV) T &

3) Only conclusion (1), (I1) and (IV) follow
Shaet fsad (1), (I1) e fsed (IV) Tt &
4) All conclusions follow

goft e ¥

Correct Answer: Only conclusion (1), (I1) and (IV) follow

hadt fasay (1), (1) aur fAsme (IV) T8t &

Candidate Answer: All conclusions follow
goft e Tt &

QID : 236 -

From the given options, which answer figure can be
formed by folding the figure given in the question?

T feedt & @ #la O 393 smpfa uy
#F & 7 T T A TR I Gohar 27




Options:
1

~ L

o |B

Correct Answer:
-~ L

p B

Candidate Answer: [ NOT ANSWERED |

QID : 237 -

From the given options, which answer figure can be
formed by folding the figure given in the question?

Fafeiad faweul & @ ®lF o 3 uxw F &
M FF B A oS ST W E2

A
O
®
Options:
1
i
2
o
L]
i
3)
A A
o |®
4)
A
O
~




Correct Answer:

-~

-

Candidate Answer:

-~

-

QID : 238 -

In the given figure, which number represents
poisonous insects which are not black?

7S st &, FlF T e RS P A FEr a
£ o T

Poisonous/ A
fordem _.f’f1 \
\
I i T
3 \\ \ Black/
Insects/ | E ; ) cL
nsec T
o -
o 3
Options:
1)2
2)3
3)4
4)5

Correct Answer: 2
Candidate Answer: 2

QID : 239 -
In the given figure, which alphabet/alphabets
represent old cars?

& o7& sy & @la wrd s que mizat &
ZeTamEena g2

Cars/ / B ?( ;\ A \‘\
ars [ a \C Blue/
i — <+
anfgar L r ™~ /,'] afrem
\\\ y :)’\/’ 4 \



Options:
1)yandr
yaurr

2)y

3)a,yandb
a,ydaurb
4)aandb
adurb

Correct Answer: y and r
yaurr

Candidate Answer: y and r
yddarr

QID : 240 -

In the given figure, how many metallic balls are also
heavy?

&Y o€ meptar F, Reael arg fr A2 ady ofr ¥

40
Balls/
P — " 39 29
Heavy/
o _40 31 s
66
o2

Metallic/ATTg ——»-

Options:
1) 97

2) 71
3) 31

4) 66
Correct Answer: 31
Candidate Answer: 66

QID: 241 -

Which answer figure will complete the pattern in the
question figure?

i A1 3R HFd TF HFlad & 9awT & Q@
Ryan?

7K
NS4




Options:

=Y

T NY Y

Correct Answer:

/

Candidate Answer:

/

QID : 242 -

Which answer figure will complete the pattern in the
guestion figure?

wieT W I AP T HPa & Taed & QT
HLAN?

~




Options:
1)

4)

Correct Answer:

Candidate Answer:

QID: 243 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 13 3 gl & § 3@ W Fgl & gaw
orm & vy 3l Bl &

9




Options:

s

WA

4)

W/

Correct Answer:

WA

Candidate Answer:

W/

QID:244 -
From the given answer figures, select the one in
which the guestion figure is hidden/embedded.

& 7% 3T G # § 3H s HGA @ g
Sw & uy amgpla Bfea B

Ig




Options:
1)

4)

21 (|

Correct Answer:

p

Candidate Answer:

X

QID : 245 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & vy smeladl # REmw 3gEr Fee &
AlEHT B U W & a1 9g T T S
s feag gem?

@B




Options:

1)

N
~

w
~

'S
=

vVvv
AAA

) ()] Q] [

Correct Answer:

Vvvv
AAA

Candidate Answer:

QID : 246 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

A & ue HEAd # REm Agar #ee
A= Tee YT Wit & A I fohH 39X AT
s fears geme?

B8




Options:
1)

4

e B (=] =)

Correct Answer:

3

Candidate Answer:

=]

QID : 247 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

ufy me ZUuT @ AB Y@ W @ S, ot &
IO WAl # ¥ Bid @ MGfa U Hpla &

78 ufafesa gefi?

Aok B




Options:
1)

N
~

w
~

B @] |F] |

'S
=

Correct Answer:

X

Candidate Answer:

X

QID : 248 -

If 2 mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IR mF TUT @ AB I WX @ oW, &t & T

IR AeAAl A ¥ dig @ dpla v el Hr
e ufafesa gefr?

A B



Options:
1

N

w

'S

& BB B

Correct Answer:

D

Candidate Answer:

(i

QID : 249 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabels as shown in the given two matrices. The
columns and rows of Matrix-1 are numbered from 0 to 4 and that of Matrix-1I
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example, ‘L’ can be represented
by 11, 42, etc., and ‘A’ can be represented by 65, 96, etc. Similarly, you
have to identify the set for the word “FISH"”

U eq dad UE gEAT-udE g g arar ¥ Sk o feeut # @
dT uw # Tar s §) Meeul # U v EuardAg e & g ant
AT g aw € St 5 B aw @) aneggl # ¢ negp-l o wEH 3R
Gieh & gEar 0 & 4 & A smegen H 5 @ 9) 59 HcgEl § Uh AW @t
upel 3ad Ufth 3R aig # ToFH ST g Gl off @@l &l 3EIeor
& fw L @ 11, 42, W TR G ST wEAT § aWw AT # 65, 96,
3fe grr gaftar s @wmar ¥ =@ Gt @ e ow A Ru weg “FisH”
o o HHp B Uedeen gl

Matrix-1 Matrix-il

-1 el
0(1(2|3|4 5(6|7|8|9
0(P|I1|Y|F|L 5 HS|E|A|P
1|FIL|IPII|Y 6| AP H|S|E
2|1 |Y|F|L|P 7T|S|E|A|[P|H
3(LIP|I|Y|F 8|PHISIEA
4 (Y| F|L|P]I 9 E|A|P|H|S




Options:
1) 34,02, 56, 67

2) 03, 20, 69, 79
3)22,13,75,98

4) 10, 43,99, 55
Correct Answer: 22, 13, 75,98
Candidate Answer: 22, 13, 75, 98

QID : 250 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-ll
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example, ‘M’ can be represented
by 22 44, elc., and ‘T" can be represented by 67, 96, elc. Similarly, you
have to identify the set for the word “CROPS™.

U QG had U AEA-HAp N ol A ¢, ofer 6 foweut & &
fpdft v & Bar m §) RAeedl F By v gegrwdg Hawl & @) aud
grr gefi arn  Star fn Ru oo g ameggt & ¥ el & waear Al
aftr & T=ar 0 @ 4 ¥ 3 sy A5 F 91 57 ImegEt ¥ T WmR o
upel 3E6 Of R A # Taew dEa R0 g o @har &1 Sgreder
& faw ‘M @ 22, 44, TG SR GRS WHan § 9Ur CTT W 67, 96,
mfy g guimr s @har ¥ os@ WE & yua uw H RU o eeg
“cropPs” & Tow @9E & upawEET &

Matrix-I Matrix-1l
Rl FEgE-ll
0[1[2]3]4 5[6[7]8]9
O0M|C|O[S|N 5|T|U|Q[P|R
1|C{N|S|M|O 6 PIR|ITIU|Q
2|N|[OM|C|S 7UQ|P|R|T
3[sIM[N]O]C 8|Q|P[R[T|U
4/0]S|CINIM gR[TIU[Q]|P

Options:
1) 10, 59, 02, 65, 00

2) 23,78,14,99, 30
3) 42,95, 40,76, 03

4) 34, 66, 33, 86, 22
Correct Answer: 23, 78, 14, 99, 30
Candidate Answer: 23, 78, 14, 99, 30

QID : 251 - Which of the following is the prime reason for inflation?

i 7 @ gerehifa @1 9 wRo @ 87
Options:

1) Decrease in money supply

Yoft gf & seft

2) Increase in money supply

Ooft gfef &

3) Decrease in supply of goods

&g Hr gfd d et

4) Increase in government cash
dott 7

(Eorrect Answer: Increase in money supply
it ofdt g
Candidate Answer: Decrease in supply of goods

T%g 1 gfd & el

QID : 252 - What is Disposable Personal Income?

Fafthes UaST I T T Sif AT 87

Options:

1) Personal Income + Subsidies

IRAT T + ST

2) Personal Income - Subsidies

R 31T — ST

3) Personal Income - Direct Taxes
Y — UI& &R

4) Personal Income - Indirect Taxes
ST — AUIE h



Correct Answer: Personal Income - Direct Taxes
ST — UTE& h

Candidate Answer: Personal Income — Direct Taxes

R T — Te

QID : 253 - What is the full form of CRR?

HramRaTR 1 e wu R 82
Options:

1) Cash Return Ratio

Tere TaET SFgUTd

2) Cash Reserve Ratio

eng STRAT STgaTd

3) Cash Revenue Ratio

Hch& STET STUTd

4) Cash Return Reserve

dhe

Correct Answer: Cash Reserve Ratio
he SR SrgaTa

Candidate Answer: Cash Reserve Ratio

eng STRTAT STgaTd

QID : 254 - Which among the following is used to measure slope of indifference curve?

frfofea & & foradhr Tl STueTaTd gk o SIoRTd ol ATOH o forg foRa SiraT 872
Options:

1) Marginal Rate of Transformation

R ht Wid &R

2) Marginal Rate of Substitution

ufreTe dr Weid

3) Marginal Rate of Technical Substitution

qeh-1hT TR &Y T &

4) None of these

Correct Answer: Marginal Rate of Substitution
deR

Candidate Answer: Marginal Rate of Substitution
id &

QID : 255 - 'Food For Work Programme’ was introduced at time of which Five Year Plan?

fafafad 3 2 frg daadfa g & gag '&rf & forg @rer g smeey i 8 oft?

Options:
1) Fifth
ot

2) Tenth
ggar

3) Seventh
radt

4) Ninth
et

Correct Answer: Tenth
ggar

Candidate Answer: [ NOT ANSWERED ]

QID : 256 - Which type of federalism is seen in India?

IR H fohT TehR o1 GeEraTe 3T STIT 87

Options:

1) Coming together federation

HTY TR T AT

2) Holding together federation

Y FATHR I T TS AT

3) Coming together federation and Holding together federation both
T SRR G ST AT WY FATRR AT hl TS AT &1
4) None of these

FTHIFE TE

Correct Answer: Holding together federation

T FATRE I AT TS HeEAT

Candidate Answer: Coming together federation and Holding together federation both
Y SRR T T TAT HY FAThR 54| BT 75T AT



QID: 257 -
Match the following.

SaafEa =1 Fema s

Term / UqC Meaning / 31
1. Executive a. An institution empowered to administer
BRI LIRED justice and provide a mechanism for
the resolution of legal disputes.
e el ider AT Toaeh o =
T dAT Heer [Aaet & Haer @
TR gidr T
2. Judiciary b. An assembly of people’s
= B ITEE TS representatives with the power to
enact laws for a country.
FAUTAATIT i T orEeh o ger

BT i gt o HFTUDR BT B
3. Legislature c. A body of persons having authority to
IERIGESE initiate major policies, make decisions
and implement them on the basis of
the constitution and laws of the
country.

cafhat @ tar Herm Sgs g e
& diaaE Jour S & YR W
A Afd a9, Hae a9 30
AN e @ HT9DPR T B

Options:
1)1-¢2-3a3-b

2)1-b,2-c¢3-a
3)1-a,2-¢3-b

4)1-b2-a3-c
Correct Answer:1-c¢,2-a,3-b
Candidate Answer:1-c¢,2-3,3-b

QID:258-A
TIHR YT AT aT AR SifdrY gry @it Raffa dame & ez & o w81

government rules within limits set by constitutional law and citizen right.

e
Options:

1) Autocratic
R

2) Democratic

3) Monarchic

4) Authoritarian

SfYRRarEr

Corrept Answer: Democratic

Candidate Answer: Democratic

QID : 259 - What are the maximum number of seats fixed for Lok Sabha in India?

AR F Tl AT & g sifdenay foraelt die Ruifka &2
Options:

1) 545 seats

545 T

2) 552 seats

552 T

3) 560 seats

560 Te

4) 550 seats

550 e

Correct Answer: 552 seats

552 TE

Candidate Answer: 545 seats
545 Tt



The following pie chart shows the distribution of
expenses (in degrees) of a family during 2016.
Total income of the family in 2016 = Rs 1080000

& fGr or g B9 # 9 2016 & g U
ufar & @@ & fageor (el ) &t g T
%1a7 2016 # oR@r & o 3 = 1080000 &.

Clothes/
FI3 Rent / rrmar
50° 90°

Saving/

i Food / &teret
30 60°
Education/ Transport/

Elf 1 TRaga
90° 40°

Their expenditure on rent is what percentage of their expenditure on Education?

oI TR ITehT =, 181 WR Ik g ol foham ufasrd &7

Options:
1) 33.33

2) 50
3)100

4) 90
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED |



The following pie chart shows the distribution of
expenses (in degrees) of a family during 2016.
Total income of the family in 2016 = Rs 1080000

& fer or g B # 9 2016 & ST T
Ufar & =om & foaeor (e #) @& geimar
%1a7 2016 # oR@r & o 3 = 1080000 &.

Clothes/
F92

50; 90°
Saving/

i Food / §iYste
30 60°
Education/ Transport/

fRre TRaga
90° 40°

What is the total expenditure (in Rs) on Rent, Food and Transport together?

TR, i o1 uRee W e St fad= aaa gam?

Options:
1) 450000

2) 390000
3) 570000

4) 500000
Correct Answer: 570000
Candidate Answer: [ NOT ANSWERED |



The following pie chart shows the distribution of
expenses (in degrees) of a family during 2016.
Total income of the family in 2016 = Rs 1080000

& fer or g B # 9 2016 & ST T
Ufar & =om & foaeor (e #) @& geimar
%1a7 2016 # oR@r & o 3 = 1080000 &.

Clothes/
3 Rent / fFmar
50° 90°
Saving/
i Food / #Ysie
30
60°
Education/ Transport/
fRrem TRaga
90° 40°

What will be the average (in Rs) of total income spent by the family on Education, Savings and Rent?

frem, s o foRRTd W g 7Tq gt 2y T St (. ) T gm?

Options:
1) 220000

2) 215000
3) 205000

4) 210000
Correct Answer: 210000
Candidate Answer: [ NOT ANSWERED |



The following pie chart shows the distribution of
expenses (in degrees) of a family during 2016.
Total income of the family in 2016 = Rs 1080000

& fer or g B # 9 2016 & ST T
Ufar & =om & foaeor (e #) @& geimar
%1a7 2016 # oR@r & o 3 = 1080000 &.

Clothes/
FI3 Rent / =ramar
50° 90°

Saving/
fc':' Food / §iYste
60°
Education/ Transport/
Elf 1 TRaga

90° 40°

Income of the family in the year 2015 was 20% less than that in the year 2016 and the ratio of their savings in 2015 and 2016 is 2 : 5. Approximately what percentage
they saved in the year 2015?

gRaR & 3y af 2015 & ay 2016 HI 31F & 20% HH ot 3R af 2015 Fu1 a9 2016 F IR o T AT 22 5 &1 I§ 2015 F IFIA U 31T T 197 fohat wfdRra srera foam
oqT?

Options:
1)6.17

2)4.166
3)3.24

4) 5.66
Correct Answer: 4.166
Candidate Answer: [ NOT ANSWERED |

QID : 351 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Roshni always want (1)/ to get the best of facilities (2)/ whether she deserves it or not. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 2

QID : 352 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Rohan's mother advised (1)/ him not to drive the (2)/ car lately at night. (3)/ No Error (4)
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 353 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

I insisted but neither Praveen or his (1)/ friend Bharat is ready (2)/ to work on holiday. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1





